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QUESTION 1

What are the three main features of Oracle Integration Cloud (OIC)? 

A. Blockchain application development 

B. Internet of Things (IoT) application development 

C. Web and mobile application development 

D. API management 

E. Application integration 

F. Digital assistant application development 

G. Business process automation 

Correct Answer: AFG 

 

QUESTION 2

Which built-in API platform policy lets you manipulate the request context? 

A. Application Rate Limiting Policy 

B. Key Validation Policy 

C. Redaction Policy 

D. Groovy Script Policy 

Correct Answer: D 

https://docs.oracle.com/cd/E83857_01/paas/api-platform-cloud/apfad/using-oracle-api-platform- cloudservice.pdf 

 

QUESTION 3

What two grants allow an API Manager to use a service in their API? 

A. Manage Service 

B. View All Details 

C. Deploy Service 

D. Reference Service 

Correct Answer: BC 

https://docs.oracle.com/en/cloud/paas/api-platform-cloud/apfad/managing-api-grants.html#GUID18A50B0C-F14A-4FEE-
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BFEA-CA42265D35DA 

 

QUESTION 4

When considering the management of plan entitlements in the API Platform Cloud Service, which two statements are
valid? 

A. Two entitlements of the same plan cannot point to the same entire API, or to the same action in an API. 

B. A given API can only be entitled by one plan at a time. 

C. You must have Service Manager role permissions to manage plan entitlements. 

D. An entitlement is the relationship between a plan and an API that defines how a client application can access the
API. 

E. A given plan defines entitlements to only one specific API. 

Correct Answer: AD 

https://docs.oracle.com/en/cloud/paas/api-platform-cloud/apfad/manage-api- entitlements.html#GUIDF11CD88F-
F269-41B1-8236-3FC3D62014B1 Understand API Entitlements An entitlement is the relationship between an API and a
Plan that defines how a client application can access the API. There is a many-to-many relationship between plans and
APIs. A given plan can have entitlements to multiple APIs; for example, to group related APIs. A given API can be
entitled by multiple plans; for example, to provide different quality of service criteria. Note that two entitlements of the
same plan cannot point to the same entire API, or to the same action in an API. 

 

QUESTION 5

Oracle Application Adapters in Service-Oriented Architecture Cloud Service (SOA CS) can connect to on-Premise
systems. What are 2 key elements that you need to review in this architecture? 

A. Account for network connectivity and latency sensitivity to the on-premise application in the architecture. 

B. Ensure that Oracle Support Notes for a hybrid cloud architecture with that application are reviewed and supported. 

C. Design a load balancer solution for connectivity. 

D. The DMZ needs to open port 80 for proper connectivity. 

Correct Answer: AC 

 

QUESTION 6

Which two are ways Business Rules can be modeled in Process Cloud Service (PCS)? 

A. using Oracle Business Rules Editor 

B. using OIC Rule Editor 

C. using BPM Rule Editor 
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D. using Decision Model Editor 

Correct Answer: AD 

https://docs.oracle.com/en/cloud/paas/process-cloud/user/creating-business-rules.html 

 

QUESTION 7

Which two are execution modes supported by gateway node in Integration API Platform Cloud Service? 

A. Production 

B. Development 

C. Stage 

D. Test 

Correct Answer: AB 

https://docs.oracle.com/en/cloud/paas/api-platform-cloud/apfad/installing-gateway-
node.html#GUIDA02059C9-37B4-40F0-9FEA-C648804BB98F 

 

QUESTION 8

Which two are types of Authentication that are supported for Services in Integration API Platform Cloud Service? 

A. Kerberos 

B. WSS Username Token 

C. OAuth2 

D. BasicAuth 

Correct Answer: CD 

https://cloud.oracle.com/opc/paas/datasheets/APIPCSDataSheet_Jan2018.pdf Reference:
https://docs.oracle.com/en/cloud/paas/process-cloud/user/defining-data.html#GUID-9890F9F5-
5A7847B8-BE22-4FBEAC7DB53D 

 

QUESTION 9

Given that a gateway node should have a dedicated user credential for connecting to the API Platform Management
Service, what grants should be assigned to that user? 

A. Node Service Account 

B. Deploy API 

C. View all Details 
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D. Deploy to Gateway 

Correct Answer: A 

 

QUESTION 10

Which Service-Oriented Architecture Cloud Service (SOA CS) component provides stateful orchestration? 

A. Oracle Mediator 

B. Oracle Business Activity Monitoring 

C. Oracle Service Bus 

D. Oracle Business Rules 

E. Oracle BPEL Process Manager 

Correct Answer: E 

Reference: http://www.oracle.com/us/products/middleware/soa/oracle-soa-suite-ds-066430.pdf 

 

QUESTION 11

As an Integration developer, you have been tasked with integrating Oracle Content and Experience Cloud with a
process application. Because this is a document-centric process that will involve collaboration with process participants,
it has been determined that the document and conversation functionality should be used. Which task is NOT required? 

A. You must manually enable the document and conversation features for your process application. 

B. You will need to have the administrator configure the connection between Oracle Integration Cloud (Processes) and
Oracle Content and Experience Cloud because developers do not have those permissions. 

C. You will need to create a new process application because the conversation functionality cannot be enabled for pre-
existing applications. 

D. You will need to assign conversation viewers to either an Oracle Content and Experience user role or Oracle
Documents Cloud Service user role. 

Correct Answer: A 

 

QUESTION 12

You are designing a new integration in OIC that needs to expose a REST-full interface trigger for client 

applications. 

When choosing request and response options using the REST Adapter Endpoint Configuration Wizard, 

which is a valid consideration? 
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A. Both standard and custom HTTP headers can be defined for either the request or response. 

B. File attachments can be accepted as a request option for the Trigger interface, but you cannot include attachments
as a response to the client. 

C. If you select a PUT or POST action (HTTP method), you must define a JSON response payload format. 

D. Although you can define both query and template parameters, only template parameters will be available for mapping
in the mapper because query parameters are considered optional. 

Correct Answer: C 

 

QUESTION 13

Which four are valid for integration using Service Oriented Architecture Cloud Service (SOACS)? 

A. Retrieve/Update supported data elements on the SaaS applications using REST Services in real time. 

B. SOACS has read access to HCM and ERP Cloud (SaaS) Applications data. 

C. Create Files in the required format and Orchestrate PBL data loads into the HCM/ERP Cloud. 

D. Create Files in the required format and Orchestrate FBDL data loads into the HCM/ERP Cloud. 

E. Create Files in the required format and Orchestrate ADFDi data loads into the HCM/ERP Cloud. 

F. Create Files in the required format and Orchestrate HDL data loads into the HCM/ERP Cloud. 

Correct Answer: ABEF 

 

QUESTION 14

Which two are NOT default start and end events in Process Cloud Service? 

A. Folder start and None end event 

B. SOAP start and SOAP end event 

C. None start and end event 

D. Task start and end event 

Correct Answer: BD 

https://docs.oracle.com/en/cloud/paas/process-cloud/user/defining-process-start-and- end.html#GUIDE3E20D7C-
D135-419C-8750-F8D9147590D8 

 

QUESTION 15

Which two statements about lookup are correct? 
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A. Create a lookup to map values between application. 

B. Lookups are deployed as part of integration activation. 

C. Changes made to lookups already used in active integrations take effect immediately. 

D. You cannot clone a copy of an existing lookup. 

Correct Answer: AC 

https://docs.oracle.com/cloud-machine/latest/intcs_gs/ICSUG/GUID-084B7E40-542A-4CDD-
A1B0282B1DAD026C.htm#ICSUG-GUID-673B7C11-4CEF-489B-8381-D7011FFAEDE6 https://
docs.oracle.com/en/cloud/paas/integration-cloud-service/icsug/managing-
lookups.html#GUID-9322992506C1-4C08-8BAC-3FCC69722C38 
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